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One breakage: ARCs closer to Shortest
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Second breakage: ARCs find a way
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Comparison

MRT ARCs
Complexity inherited from SPF
Detour, unrelated to Shortest Path

Small chance to avoid unrelated failures

Single failure may incur double reroute
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Labels

 ARGCs:3to4

— 1 from cursor to
edge

—+ 2*1 from edge to

edge for recovery

+1 for load balancing



Tags

e MRT: reroute + color

* ARCs: reroute (reset when leaving ARC)

— For more complex combs, capability to index
edges



Similarity between MRT and ARC

Both approaches provide two forwarding edges
for every destination at a node. Consequently,
for a given destination, if one views only the red
or blue forwarding edges, we get two directed
trees (red and blue) towards the destination.



Differences between MRT and ARC

- In MRT, the path from any node to the destination on the red/blue trees is link-disjoint. In
ARCs, it is not.

- In MRT, neither the red nor the blue tree is guaranteed to provide shortest path for a node.
However, in ARC, packet is forwarded along the shortest path after a short detour.

- As a consequence, when MRT is implemented, one needs to have three FIB entries---one for
shortest path forwarding, one for red tree forwarding, and one for blue tree forwarding.
However, for ARC, only two trees are required. {At least that's the claim. It's also claimed that
every node will have their shortest path on one of the two trees, but | am not sure about this.
This has to be proved.}

- In the current version of the MRT draft, the first DAG is constructed by selecting a root node.
The paths for all other nodes are computed based on this one DAG. While it is clear to see the
recovery domains when the packets are routed towards the root node, it is not clear how the
recovery domains would work if the packets are routed to some other node. In the context of
ARCs (and MRT when MRTs are constructed for every destination node) that every ear/arc
forms the recovery domain. Thus, when a packet moves from one ear/arc to another, the
recovery bit can be reset.
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